
0LNXOfV�]VfNRN
9fODVV]RQ�D�]VfNRN�Nj]lO��PDMG�YfODVV]RQ�WDUWDOPDW�KR]]f�

0c5(7(=c6

$�PLNXOfV]VfN�PgUHWHL�

0��PDJDVVcJ
6=)��V]dOHVVdJ�IHOiO
6=$��V]dOHVVdJ�DOXO
)��IiO�PDJDVVcJD

&HORIfQ�WDVDN�SLURV�^0&����`��0&�����

$�PLNXOfV�]VfN�MHOOHJH��WDVDN
$ODSDQ\DJD��FHORIcQ
3LURV�PLQWcV�PLQjVdJL�FHORIcQ��$�WHWHMdW�gVV]HNgWMiN�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD��LQJ\HQHV



&HORIfQ�WDVDN�fWOfWV]i�^0&����`��0&�����

$�PLNXOfV�]VfN�MHOOHJH��FHORIcQ
$ODSDQ\DJD��WDVDN
bWOcWV]f�PLQWcV�PLQjVdJL�FHORIcQ��$�WHWHMdW�gVV]HNgWMiN�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��NE��QHWWf������)W�LJ
7HUPgN�fUD��LQJ\HQHV

&HORIfQ�WDVDN�DUDQ\�NgN�^0&����`��0&�����

$�PLNXOfV�]VfN�MHOOHJH��WDVDN
$ODSDQ\DJD��FHORIcQ
,JdQ\HV��V]eQHV�PLQjVdJL�FHORIcQ��$�WHWHMdW�gVV]HNgWMiN�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD�����)W�b)$



&HORIfQ�WDVDN�SLURV�+2�+2�^0&����`��0&�����

$�PLNXOfV�]VfN�MHOOHJH��WDVDN
$ODSDQ\DJD��FHORIcQ
,JdQ\HV��V]eQHV�PLQjVdJL�FHORIcQ��$�WHWHMdW�gVV]HNgWMiN�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD�����)W�b)$

&HORIfQ�WDVDN�fWOfWV]i�
DMfQGgNRV
�^0&����`��0&�����

$�PLNXOfV�]VfN�MHOOHJH��WDVDN
$ODSDQ\DJD��FHORIcQ
,JdQ\HV��V]eQHV�PLQjVdJL�FHORIcQ��$�WHWHMdW�gVV]HNgWMiN�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD�����)W�b)$



dULfV�FVL]PD��0LNXOfV�gV�+iHPEHU��^0)&6�������0)&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��ILOF
5DJDV]WRWW�ILOF�PLQWD�D]�HOHMdQ�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�WfO�EcUPHO\LN
7HUPgN�fUD������)W�b)$

1DJ\�ILOF�PLNXOfVFVL]PD�^0)&6����`��0)&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��ILOF
5DJDV]WRWW�ILOF�PLQWD�D]�HOHMdQ��9HJ\HVHQ�FVRPDJROMXN�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����6=)����0���
$McQORWW�NDWHJfULD��QHWWf������)W�WfO�EcUPHO\LN
7HUPdN�cUD������)W�b)$



3LURV�DUDQ\�FVL]PD�]VfN�^0)&6����`��0)&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��SOiVV
$UDQ\RX]RWW�V]HJdO\�dV�PLQWD�
$�PLNXOcV�]VcN�PdUHWHL�
6=$����6=)����0���
$McQORWW�NDWHJfULD��QHWWf������)W�WfO�EcUPHO\LN
7HUPdN�cUD������)W�b)$

)lOHV��NRFNfV�ILOF]VfNRN�YHJ\HVHQ�^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��ILOF
,JdQ\HV�NLGROJR]cV����IdOH�YHJ\HV�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0����)���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

872/6d�'$5$%2.�����GE�



+iHPEHU���0LNXOfVIHM�]VfN�^03=6����`��03=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��SOiVV
$�]VcN�IHOiO�gVV]HKh]KDWf��/,0,7b/7�
$�PLNXOfV�]VfN�PgUHWHL��
+fHPEHUIHM��6=$����0�����0LNXOcVIHM��6=$����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

.,)87d�7(50c.��872/6d�'$5$%2.������GE�0LNXOfV����GE
+iHPEHU�

)LJXUfV�IlOHV�WfVND�^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��ILOF
(OHMdQ�UDJDV]WRWW�ILJXUD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0����)���
$MfQORWW�NDWHJiULD��NE�������)W�LJ
7HUPgN�fUD������)W�b)$



/iJi�OfEk�ILJXUfV�SROfU�]VfN��0LNXOfV�+iHPEHU�5gQ��^032=6����`
�032=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��SROcU�SOiVV
,JdQ\HV�ILJXUcV�]VcNRN��)HOiO�IiOHV��(OHMdQ�UDJDV]WRWW�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL�
6=$��0��)�
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

/iJi�OfEk�0DQi�V]jYHW�]VfN�^06==6����`��06==6�����

$�PLNXOfV�]VfN�MHOOHJH��gVV]HKh]KDWf�]VcN
$ODSDQ\DJD��V]gYHW
7HWHMH�V]DWdQ�V]DODJJDO�gVV]HKh]KDWf���(OHMdQ�LJdQ\HV��UDJDV]WRWW�ILJXUcV
PLQWD�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



3ROfU�IlOHV�]VfN�RUJDQ]fYDO��0LNXOfV���+iHPEHU���5gQV]DUYDV�IHM�
^032=6����`��032=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��SOiVV
7HWHMH�gVV]HKh]KDWf�HJ\�RUJDQ]D�DQ\DJEHWdWWHO��)HOiO�IiOHV��(OHMdQ�UDJDV]WRWW
PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

3ROfU�IlOHV�]VfN��0LNXOfV�+iHPEHU�5gQV]DUYDV�IHM��^032=6����`
�032=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��SOiVV�SROcU
)HOiO�IiOHV��(OHMdQ�UDJDV]WRWW�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



.HVNHQ\�SXKD�]VfN�0LNXOfV���+iHPEHU���5gQV]DUYDV���0DFL�
^03=6����`��03=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��SOiVV
7HWHMdQ�V]DODJJDO�gVV]HNgWgWW��(OHMdQ�UDJDV]WRWW�ILJXUD�
9HJ\HVHQ���IdOH�PLQWD�HOdUKHWj�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

2UJDQ]D�SLURV�UgQV]DUYDVRV�^02����`��02�����

$�PLNXOfV�]VfN�MHOOHJH��gVV]HKh]KDWf�]VcN
$ODSDQ\DJD��RUJDQ]D
&VLOORJf�PLQWcMh�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



2UJDQ]D�]VfN�SLURV�DUDQ\�^02����`��02�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��RUJDQ]D
$�]VcN�IHOiO�gVV]HKh]KDWf�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

.UHDWhY�KfWL]VfN�^01:����`��01:�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]gYHW
6]eQH]KHWj��QRQ�ZRYHQ�SROLSURSLOdQ�DQ\DJ����GE�]VeUNUdWcW�WDUWDOPD]�D�V]HWW�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����6=)����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



.UHDWhY�FVL]PD�^01:����`��01:�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��V]gYHW
6]eQH]KHWj��QRQ�ZRYHQ�SROLSURSLOdQ�DQ\DJ����GE�]VeUNUdWcW�WDUWDOPD]�D�V]HWW�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

6]DWgQ�3LURV�0LNXOfV�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0��
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



6]DWgQ�3LURV�5gQ�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

6]DWgQ�3LURV�0DQi�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



6]DWgQ�3LURV�0LNXOfV�SXWWRQQ\DO�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

6]DWgQ�$UDQ\�0LNXOfV�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



6]DWgQ�$UDQ\�+iHPEHU�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

6]DWgQ�3LURV�0LNXOfV�5gQV]DUYDVRNNDO�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



6]DWgQ�3LURV�0LNXOfV�+iHPEHUUHO�^06=$����`��06=$�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]DWdQ
$�]VcN�IHOiO�V]DWdQ�V]DODJJDO�YDQ�gVV]HNgWYH�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD�������)W�b)$

+iSHO\KHV�SXKD�]VfN�^03=6����`��03=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��SOiVV
$�]VcN�IHOiO�gVV]HKh]KDWf��1\RPRWW�H]iVW�FVLOODJRNNDO�GeV]eWHWW��WHWHMdQ�DUDQ\
VcY�1DJ\�]VcN�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD�������)W�IHOHWW��
7HUPgN�fUD������)W�b)$

$.&,d��872/6d�'$5$%2.������GE�



6]jYHW�]VfN�PDQiV�^06==6����`��06==6�����

$�PLNXOfV�]VfN�MHOOHJH��gVV]HKh]KDWf�]VcN
$ODSDQ\DJD��V]gYHW
,JdQ\HV�NLGROJR]cVh�PDQf�ILJXUD�D]�HOHMdQ��)HOiO�V]DWdQ�V]DODJJDO
gVV]HKh]KDWf�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

6]jYHW�]VfN�KiSHO\KHV��]jOG�ERUGi�QDWkU�SLURV��^06==6����`
�06==6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]gYHW
7HWHMdQ�V]DODJJDO�gVV]HNgWgWW��9HJ\HVHQ���IdOH�V]eQEHQ�HOdUKHWj�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



6]jYHW�]VfN�KiSHO\KHV�.,&6,��]jOG�ERUGi�QDWkU�SLURV��^06==6����`
�06==6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��V]jWW�V]gYHW
1\RPRWW�PLQWcV�KfSHO\KHNNHO��WHWHMdQ�V]DWdQ�V]DODJJDO�NgWYH��9HJ\HVHQ��
V]eQEHQ�FVRPDJROMXN�
$�PLNXOfV�]VfN�PgUHWHL�
6=����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

6]jYHW�]VfN�6,0$��VfUJD�]jOG�QDWkU�SLURV��^06==6����`
�06==6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��VkUkQ�V]gWW�V]gYHW
7HOMHVHQ�QDWhU�KDWcVh�]VcN��V]DWdQ�V]DODJJDO�NgWYH�9HJ\HVHQ���V]eQEHQ
FVRPDJROMXN�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$



3LURV�SOlVV�IlOHV�VLPD�^03=6����`��03=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��SOiVV
$�]VcN�IHOiO�gVV]HKh]KDWf�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

3LURV�SOlVV�IlOHV�^03=6����`��03=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��SOiVV
$�]VcN�IHOiO�gVV]HKh]KDWf��(OHMdQ�YDVDOW�PLQWD�YDQ�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



1\RPRWW�PLQWfV�0,.8/b6�IlOHV�WfVND�^01:����`��01:�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��V]gYHW
$Q\DJD��QRQ�YRZHQ�WDUWfV�YHWH[�DQ\DJ��(OHMdQ�Q\RPRWW�PLQWD��7HWHMdQ
gVV]HKh]KDWf��9HJ\HVHQ�FVRPDJROMXN�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

1\RPRWW�PLQWfV�e11(3,�IlOHV�WfVND�^01:����`��01:�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��V]gYHW
$Q\DJD��QRQ�YRZHQ�WDUWfV�YHWH[�DQ\DJ��(OHMdQ�Q\RPRWW�PLQWD��7HWHMdQ
gVV]HKh]KDWf�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



9DVDOW�PLQWfV�0LNXOfVRV�ILOF�]VfN�^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��ILOF
7HWHMH�gVV]HKh]KDWf��(OHMdQ�YHJ\HV�YDVDOW�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

9DVDOW�PLQWfV�0LNXOfVRV�ILOF�]VfN�.,&6,�^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��ILOF
7HWHMH�gVV]HKh]KDWf��(OHMdQ�YHJ\HV�YDVDOW�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0���
$MfQORWW�NDWHJiULD��NE�QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$



)lOHV��PLQWfV�ILOF�]VfN��0LNXOfV�+iHPEHU�5gQV]DUYDV�.DUfFVRQ\ID�
^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��IiOHV�]VcN
$ODSDQ\DJD��ILOF
���IdOH�UDJDV]WRWW��YHJ\HV�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL�
6=$����0����)���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

)LOF�]VfN��PLQWfV��^0)=6����`��0)=6�����

$�PLNXOfV�]VfN�MHOOHJH��]VcN
$ODSDQ\DJD��ILOF
$�]VcN�IHOiO�gVV]HKh]KDWf��(OHMdQ�UDJDV]WRWW�YHJ\HV�ILOF�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN�
7HUPgN�fUD������)W�b)$



)LOF�FVL]PD��PLQWfV��^0)&6����`��0)&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��ILOF
(OHMdQ�UDJDV]WRWW�YHJ\HV�ILOF�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$

-XWD�FVL]PD�PLQWfV�^0-&6����`��0-&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��MXWD
$�]VcN�IHOiO�gVV]HKh]KDWf��(OHMdQ�UDJDV]WRWW�YHJ\HV�ILOF�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��EcUPHO\LN
7HUPgN�fUD������)W�b)$



)LOF�FVL]PD�NLFVL�^0)&6����`��0)&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��ILOF
(OHMdQ�UDJDV]WRWW�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$

)OLWWHUHV�NLFVL�FVL]PD��0LNXOfV���KiHPEHU���UgQV]DUYDV��^03&6����`
�03&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��SOiVV
(OHMdQ�UDJDV]WRWW�PLQWD��9HJ\HVHQ�HOdUKHWj���IdOH�PLQWD�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$



+hP]HWW�J\DSMk�FVL]PD�^0*<&6����`��0*<&6�����

$�PLNXOfV�]VfN�MHOOHJH��FVL]PD
$ODSDQ\DJD��ILOF
7HWHMdQ�KeP]HWW�KfSHKHO\�
$�PLNXOfV�]VfN�PgUHWHL��
6=$����6=)����0���
$MfQORWW�NDWHJiULD��QHWWf������)W�LJ
7HUPgN�fUD������)W�b)$
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